

Př. 4:

$$0,3^2(\sqrt{0,81} - \sqrt{0,36}) + 0,7 \cdot 1,2 =$$

$$4,2^2(8 - \sqrt{0,16}) - 2,3,7 =$$

$$15\sqrt{225} - 4\sqrt{400} =$$

$$1,4(\sqrt{2,25} - 0,4^2) - 1,876 =$$

$$\left(3\frac{1}{7}\right)^2 - \frac{(-7)^2}{49} =$$

$$\left(5\frac{1}{3}\right)^3 - \sqrt{\frac{16}{9}} =$$

$$-3\sqrt{81} - (-\sqrt{16})^2 - (-\sqrt{36}) =$$

$$-0,6^2 + (-3)^2 - (-8)^2 - 7^2 =$$

$$-4^2 + (-3)^2 + \sqrt{1,21} =$$

$$\left(-\frac{3}{4}\right)^2 - \frac{-3^2}{4} =$$

Př. 5:

$$\frac{\left(\frac{5}{8} - 1,625\right) \cdot \sqrt{121}}{\left(\frac{7}{5}\right)^2 : \frac{7}{275}} =$$

$$\frac{\frac{2}{5} \cdot 0,1 + \frac{5}{6} : \left(-\frac{\sqrt{625}}{18}\right)}{\left(\frac{-2}{5}\right)^2 + \frac{4}{15} \cdot 1,5} =$$

$$\left(\frac{2}{5} + 1,4\right)^2 - \frac{5}{8} \cdot 0,32 - \left(\frac{1}{5}\right)^2 =$$

$$\frac{\left(-\frac{3}{4} + 1,52\right) \cdot \sqrt{225}}{\left(\frac{2}{3}\right)^3 : \left(-\frac{4}{135}\right)} =$$

Př. 4:

$$0,3^2(\sqrt{0,81} - \sqrt{0,36}) + 0,7 \cdot 1,2 =$$

$$4,2^2(8 - \sqrt{0,16}) - 2,3,7 =$$

$$15\sqrt{225} - 4\sqrt{400} =$$

$$1,4(\sqrt{2,25} - 0,4^2) - 1,876 =$$

$$\left(3\frac{1}{7}\right)^2 - \frac{(-7)^2}{49} =$$

$$\left(5\frac{1}{3}\right)^3 - \sqrt{\frac{16}{9}} =$$

$$-3\sqrt{81} - (-\sqrt{16})^2 - (-\sqrt{36}) =$$

$$-0,6^2 + (-3)^2 - (-8)^2 - 7^2 =$$

$$-4^2 + (-3)^2 + \sqrt{1,21} =$$

$$\left(-\frac{3}{4}\right)^2 - \frac{-3^2}{4} =$$

Př. 5:

$$\frac{\left(\frac{5}{8} - 1,625\right) \cdot \sqrt{121}}{\left(\frac{7}{5}\right)^2 : \frac{7}{275}} =$$

$$\frac{\frac{2}{5} \cdot 0,1 + \frac{5}{6} : \left(-\frac{\sqrt{625}}{18}\right)}{\left(\frac{-2}{5}\right)^2 + \frac{4}{15} \cdot 1,5} =$$

$$\left(\frac{2}{5} + 1,4\right)^2 - \frac{5}{8} \cdot 0,32 - \left(\frac{1}{5}\right)^2 =$$

$$\frac{\left(-\frac{3}{4} + 1,52\right) \cdot \sqrt{225}}{\left(\frac{2}{3}\right)^3 : \left(-\frac{4}{135}\right)} =$$

Př. 4:

$$0,3^2(\sqrt{0,81} - \sqrt{0,36}) + 0,7 \cdot 1,2 =$$

$$4,2^2(8 - \sqrt{0,16}) - 2,3,7 =$$

$$15\sqrt{225} - 4\sqrt{400} =$$

$$1,4(\sqrt{2,25} - 0,4^2) - 1,876 =$$

$$\left(3\frac{1}{7}\right)^2 - \frac{(-7)^2}{49} =$$

$$\left(5\frac{1}{3}\right)^3 - \sqrt{\frac{16}{9}} =$$

$$-3\sqrt{81} - (-\sqrt{16})^2 - (-\sqrt{36}) =$$

$$-0,6^2 + (-3)^2 - (-8)^2 - 7^2 =$$

$$-4^2 + (-3)^2 + \sqrt{1,21} =$$

$$\left(-\frac{3}{4}\right)^2 - \frac{-3^2}{4} =$$

Př. 5:

$$\frac{\left(\frac{5}{8} - 1,625\right) \cdot \sqrt{121}}{\left(\frac{7}{5}\right)^2 : \frac{7}{275}} =$$

$$\frac{\frac{2}{5} \cdot 0,1 + \frac{5}{6} : \left(-\frac{\sqrt{625}}{18}\right)}{\left(\frac{-2}{5}\right)^2 + \frac{4}{15} \cdot 1,5} =$$

$$\left(\frac{2}{5} + 1,4\right)^2 - \frac{5}{8} \cdot 0,32 - \left(\frac{1}{5}\right)^2 =$$

$$\frac{\left(-\frac{3}{4} + 1,52\right) \cdot \sqrt{225}}{\left(\frac{2}{3}\right)^3 : \left(-\frac{4}{135}\right)} =$$

Př. 4:

$$0,3^2(\sqrt{0,81} - \sqrt{0,36}) + 0,7 \cdot 1,2 =$$

$$4,2^2(8 - \sqrt{0,16}) - 2,3,7 =$$

$$15\sqrt{225} - 4\sqrt{400} =$$

$$1,4(\sqrt{2,25} - 0,4^2) - 1,876 =$$

$$\left(3\frac{1}{7}\right)^2 - \frac{(-7)^2}{49} =$$

$$\left(5\frac{1}{3}\right)^3 - \sqrt{\frac{16}{9}} =$$

$$-3\sqrt{81} - (-\sqrt{16})^2 - (-\sqrt{36}) =$$

$$-0,6^2 + (-3)^2 - (-8)^2 - 7^2 =$$

$$-4^2 + (-3)^2 + \sqrt{1,21} =$$

$$\left(-\frac{3}{4}\right)^2 - \frac{-3^2}{4} =$$

Př. 5:

$$\frac{\left(\frac{5}{8} - 1,625\right) \cdot \sqrt{121}}{\left(\frac{7}{5}\right)^2 : \frac{7}{275}} =$$

$$\frac{\frac{2}{5} \cdot 0,1 + \frac{5}{6} : \left(-\frac{\sqrt{625}}{18}\right)}{\left(\frac{-2}{5}\right)^2 + \frac{4}{15} \cdot 1,5} =$$

$$\left(\frac{2}{5} + 1,4\right)^2 - \frac{5}{8} \cdot 0,32 - \left(\frac{1}{5}\right)^2 =$$

$$\frac{\left(-\frac{3}{4} + 1,52\right) \cdot \sqrt{225}}{\left(\frac{2}{3}\right)^3 : \left(-\frac{4}{135}\right)} =$$